2
(%x+2> 434 = b tex+8 AU A a b, ¢ A abe O

A7



2. (2x-3)(2x+y-3)= AT A2?

® 4x>-6x-3y+6 @ 4x% -12x+2xy -3y +6
® 4x> - 12x+2xy -3y +9 @ 4x®> -12x +6xy -3y +9

® 4x> - 12x+4xy -3y +9



3.

4x% +Axy+9y* = (Bx+Cy)? & 1, o]
o] ¢t shd?

O 14 @ 15 ® 16



® (x-2)(x+ V2)
® (x-1)(x+2v2)
® (x41)(x-2v2)

@ (x+2)(x- V2)
@ (x+2)(x+ V2)



5.

324+ Tx—6=(x+3)Bx+]_)oMA[ Jetel

O -2

@ 2

® 3



e F A5t AR 20

@ 33 +x2—x=x(3x2 +x-1)
@ -x*+25=(5+x)(5-x)

@ x> +8x+12=(x+2)(x+6)
@ 36x% + 24xy + 4y? = (6x — 2y)?

® 6x2+5x+1=(2x+1)(3x+1)



@ 2x?2-5x-3

@ x%+3x

@ x*+2x-15

@ x2-9

® x2-4x+3



8. x—y=V5du x-2xy+y>+2x-2y-3 9 F2?

@D 245 @ 445 ® 1+25
@ 24245 ® 3+2+5



D 6x2+5x-6

@ 6x2-5x+6

@ 4x2+12x+9

® 4x2-5x+6

@ 9x2-12x+4



10. (ax-6y)?2 =25x2 +bxy+cy? € W, a+ b+ c o] FLS Fotoi=h(H,
a>0)

D L
-



11, The el A A HE0] Hol?

---Q--__ .b.

- ~

---Q -~

S

Q
+
S

S~—"

[ V)
Il
2
[V
+
[\
S
S
+
SY
[\v]

b)(a—b) = a*-b?



_ b
P a b ol ot atb=3.a2+b% =72 0, g+; o) g9

@ 7 ® @ 14 ® 16

[SVRIEN
N~



1
V2-1

o, a® - b o] F& Fstolt



14. x-1 ©] 3x2
—ax—-4 9] 15-d 0, 4 9
A o, W= Fstolet

=



15, The-e ofe] o] Az g o
2L WE Aolet. of

o] dolg F5tofzt.

&

sfo] shite] 2

Al o




16. (2x-3y)(2x—3y-5) + 6 < A5==olstH?

® (2x-3y-2)(2x-3y+3) @ (2x+3y-2)(2x+3y-3)
® (2x-3y+2)(2x-3y+3) @ (2x-3y+2)(2x—3y-3)

® (2x-3y-2)(2x-3y-3)



17.

(2a—3b+1)?2-(2a+3b-1)> =8a(Aa+Bb+C) € W, A+ B-C
= Fskoizt

Ll g:a+B-C=



18. x=a(a+5) L™, (a-1)(a+2)(a+3)(a+6)=x° T3t AOZ
LHERH T ?

@ x%2-36 @ x*2-6 ® x*+6

@ x>+ 36 ® x2-12x+36



19. Vx=a-29 9, Vx—4da+ 12— Vx + 2a -3 2 Hs] shA? (H,
2<a<4)

DO -2a+5 @ 2a-5 ® 5
® —2a-3 ® —2a+3



20.

= doPhx+y+1¢

A, o] Azt el e

U= FoHA L.

agia—i-b—i—c:

Z] A].

o

7}8

o] WoI7h &% 437 4+ 2xy - v-y -2

[e)
[e]
dolzax+bx+colth a+b+c 9

=



21.

the-e x - 81yt & A48 @ Zolek. of wf, [ grol erur
AFi%e] G Foha?

-8yt = (2 +[_ P+ - b

® 13 @ 15 ® 18 @ 20 ® 24



22. a®-b? = (a-b)(a+b) UL L], 12-32 4+ 5272 492~ 112 +
132 - 15% + 172 - 192 & Aot#?

® -100 @ -200 ® -300 @ -450 ® -540



23. (3+2)(32+2%)(3*+2%)(3%+28)(3164-216) = g3 —2¢ L W, a+b+c
o] gk= +stofet

> S
=%



24, 2HTE AL g bo| U5t a2 -4a-2=0, b2 +4b-2=0 < o,
a* - b* 9] F& oot

D
=%



25. YHO| tRet Az o] Zol7t Z427F 2x -1, x—y ?1 A=A o] Ful 7}
2x3 4+ x% = 2x%y —x —xy +y oItk o W x, y O] gh= 22 Fsholet

aﬂix:
S ERE



